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A E H REBEE| AR (GL m) (°C) (ppm) (%) %) i =

FERL125E1H 158 10:00 10:36 -3.0 33.0 2.5 53 1.5 | ERERRIE %1
18178 8:45 9:11 -6.0 39.6 8,200 59 0.9 |#EEFFHRE 31
18178 14:42 14:58 -9.0 39.1 | 15,200 63 08 [IEERTEZAE
18188 8:44 9:08) -10.0 325 3,600 71 0.9 |IEAERERRIE
1H18H 11:04 11:55| -12.0 31.8 0 84 0.7 |IEERTERAUNE
18188 14:52 15:26] -15.0 30.9 27.5 72 1.0 [fEER TERNE
1A198 8:25 8:58| -16.0 28.5 0 16 16.0 |EEE 2 5HEIE
18208 8:49 9:06| -15.9 28.4 0 0.05 15.6 |#h 7K {2(GL-16.13m)E £ #920cm THIE ¥ 2
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TRki2E1 A15H 13:31 13:33 -3.0 26.0 0 0.45 1.3 | ERTERAE
18178 9:34 9:55 -5.0 27.8 0 0 0.5 |EEZERIE
18178 12:17 12:42 -6.0 30.6 0 3 10.7 |EAERE T E R AT
1H18H 8:06 8:28 -9.0 31.9 6.0 0 0.4 [{EEZEHRE el
18188 13:18 13:55( -12.0 32.6 15.5 0 0.6 |EE#R TEZRE
1A198 8:45 9:37| -13.0 29.7 19.0 0 0.4 |{BAERHRIE
18208 9:15 9:30| -135 316 19.5 1 0.4 |{BA£ 3R RIE
18218 8:24 8:40| -135 31.1 0 0 3.5 | T KAI(GL-13.67m)E £ #20cm THIE X2
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FERE124E7H 268 12:35 12:45 -1.0 36.0 0 3.75 16.2 |HEE T ERBITE

7R26H 15:08 15:17 -2.0 505 | 15,000 13.5 0.3 | ERTERAE

78278 8:40 8:52 -3.0 31.4 74 11.5 0.1 |JEEF AT

7H278 9:55 10:07 -4.0 375 1 7.0 22 |iBERTERIE

7H278 11:02 11:09 -5.0 384 68 6.9 0.1 B ERTERAE

7H28H 14:44 14:15 -8.0 314 0 4.0 39 |IEERTERZE

7H298 14:18 14:28| -10.95 37.8 0 1.8 5.5 [ ERR TERAE

7H31H 13:45 13:20] -14.0 498 0 3.8 0.2 |iEERTERITE

8H1H 13:30 13:15 -17.0 474 22 3.3 0.3 [IEERTERIE

8H3H 8:39 9:00[ -20.0 47.7 54 0.1 6.9 |EHERERBIE

8H3H - 13:05| -20.08 - 0 0 20.9 |#h FKAI(GL-20.18m)E L £10emTRIE 31
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